Threshold Concepts and Winecon for First Year Business Undergraduates

The Multiplier 
Please answer the following questions by circling the appropriate answer.

1. Do you understand what the multiplier means?


    
Please circle the appropriate number.

	1
	2
	3
	4
	5


Uncertain                            Certain

2. Which of the following statements best defines the multiplier?

a) Investment depends upon the rate of change of national income.

b) It is the percentage by which consumption increases following an increase in income.

c)  It describes the fact that a change in spending has an impact on national income that is greater than the original change in spending.

3. Which of the following best illustrates the application of the multiplier to business?

a) If the UK economy grew more quickly this would encourage an increase in investment by business.

b) Overall, the Irish economy was expected to benefit to the tune of 130m Euros from hosting the Ryder Cup in September 2006, resulting from a smaller initial injection.

c) The UK avoided recession in 2001 as consumption, a major component of aggregate demand, remained buoyant.

Name:_________________________________________________ 

Note: this is not part of your assessed coursework.

